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QUESTION 1

Click the Exhibit button. 
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You have deployed the access control configuration to the distribution switch. Referring to the exhibit, which statement
is true? 

A. All hosts connected to the access switch require authentication to access the network. 

B. All hosts connected to the access switch will have access to the network after one host authenticates. 

C. All hosts connected to the access switch will have access to the network without authentication. 

D. Only the first host to authenticate will have access to the network, other hosts will be blocked. 

Correct Answer: B 

 

QUESTION 2

When configuring class of service, what would you use to allocate bandwidth to a forwarding class? 

A. Buffer depth 

B. Transmit rate 

C. Bandwidth 

D. Speed 

Correct Answer: B 

 

QUESTION 3

Which protocol is a multicast routing protocol? 

A. OSPF 

B. BGP 

C. PIM 

D. IS-IS 

Correct Answer: C 

 

QUESTION 4

Click the Exhibit button. 
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You have configured 802.1X single supplicant mode on the access switch. The VoIP phone does not support 802.1X
authentication. 

Referring to the exhibit, which statement is true? 

A. MAC bypass must be configured for the VoIP phone for this solution to work. 

B. Authentication must be changed to multiple supplicant mode for this solution to work. 

C. The VoIP phone will be able to communicate over the network after the workstation authenticates. 

D. The VoIP phone will not be able to communicate over the network. 

Correct Answer: C 

 

QUESTION 5

Which two statements is true regarding the next hop attribute? (Choose two.) 

A. it is not changed when sent across EBGP sessions 

B. it is changed to self for IBGP routes learned from EBGP 

C. it is not changed for IGBP routes learned from EBGP 

D. it is Changed by default when sent across EBGP sessions 

Correct Answer: CD 
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